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Test Conditions _ )
Symbol Parameter — Min. Typ. Max. Unit
Vbp Conditions
Ioo Operating Current | 7.5 No 1/0 — 41.1 — mA
PWM Output
fpwm — - 70 - - kHz
frequency

1 TAFERE (1 25 CZ3R)

Test Condition: TA=25C » Vm=5V-35V

Limits
Characteristic | Symbol Test Conditions - -
Min. | Typ. | Max. | Units
Load  Suppl Operating, lout=+13 A >
PPYY \Y, P J 3 - 35 \Y/
\oltage Range L=3mH
Source Driver > lout=-0.85A - 1.0 1.1 V
Source Driver » lout=-1.3A - 1.7 1.9 \Y/
Output - -
. Sink Driver > lout=0.85mA -
Saturation V/CE(SAT) - 0.4 0.5 \Y
Vs=0.4V
\oltage - -
Sink Driver » lout=1.3mA >
- 1.1 1.3 Vv
Vs=0.4V
Motor Supply | ImoN) | VENABLE=0.8V - 2.5 4.0 mA
Current  (No | Im©FF) | VENABLE=2.0V >
- 1.0 50 A
Load) Vmope=0.8V
Thermal
Shutdown T - 165 - T
Temp.
Thermal
Shutdown AT - 8 - T
Hysteresis.

% 20 AR SRR

BEACRERNE: EPREEIAERIEIES) 1C NEUREFIZE 165CHy - K 5 BIERES - [t
R ZERZ IR BIE - &R N 8C1% - (ReEEER HENEIE S - B eainvED

f
VpHase I |

BRI B H2EEE - T  ewen |
H-bridge BEAGBiHIS > 2857 B B e oR0cE_ | O ]
BE > A e (05 B | i
Enlargement A ti 7 f57R) » BLErE 11
H-bridge Uit > EEINE EZes ~—E

BRIDGE

A (25 4 (4075 T INTERNAL e X
OSCILLATOR) » X ghfaf iy - a1 — \QZHG

o | ek
ﬂ:t}i% %ﬁﬁ%}ifﬁﬁﬁﬂ E,\jﬁﬁ W ° INTERNAL ”._ R;Co _.”_

OSCILLATOR




BRIEEREE:
R A PR —4H RS i R (L.
1 25 °C 23215 » Power Dissipation /% 2W -
AR ERE

BEAHEERE  -50 'C~125TC
5o
B E R E

A ESO PTG Ry B 2 -

0°C~70C (FBEEZIREIRIERS ST THER

IR

Forward(uint8_t Speed)
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SetDir(uint8_t Dir)
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GetDir(uint8_t &Dir)
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SetTACHPeriod(uint8_t Period)
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0: 4ms 1:8ms

2:16 ms 3:32ms

4: 64 ms 5:125ms

6: 250 ms 7: 500 ms
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12:15s 13:30s

14:60s
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Status = TACHIn(uint32_t &Speed)
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SetSpdCtrl(uint8_t Dir, uint32_t Speed)
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SpdCtrlOn(void)
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uint8_t Status = GetSpdCtrlStatus(void)
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SetP(uint8_t ValP)
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SetCount(uint8_t Mode, uint16_t Count)
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Status = GetCountStatus(void)
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Status = GetBrakeButStatus(void)
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ClrBrakeButStatus(void) BB Brake 7 HAVRRE(E

*1 FEEEE EREEEGR R Period HIEE » TAFRIKISAEFRH]
Period=0 = 983025000  Period=8 = 3932100

Period=1 =» 491512500  Period=9 = 1966050

Period=2 = 245756250  Period=10 = 983025

Period=3 = 122878125  Period=11 = 491513

Period=4 = 61439063 Period=12 = 262140

Period=5 = 31456800 Period=13 = 131070

Period=6 = 15728400 Period=14 = 65535

Period=7 = 7864200
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#include "‘arminno.h™

MotorRunnerA MyMotor (0); i FEBEERR 0
int main(void)

{

while(1)

{
MyMotor.Forward(200); /i HEEDL 200 HYZEE I ATEE)
Pause(3000);
MyMotor.Stop(); " {F1E B
Pause(3000);
MyMotor.Backward(200); 1 EEE D 200 HYERIE HRIEE)
Pause(3000);
MyMotor.SetDir(0); I B R IR (IR S
Pause (3000);
MyMotor.SetSpdDC(150); I 1 R A URy 150
Pause(3000);
MyMotor.Brake(); i REEIREE
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